<1t 7
Io2N /
0 150 300m
1/12,500

B

=2IKUTE
.- 10.0m ~

5.0m ~10.0m %i&

3.0m~ 5.0m %i&

1.0m ~ 3.0m %i&

0.5m ~ 1.0m %x&

0.5m x&

SaIcCEESNBHKER (oK. 2. =)

REMIRFEESEE X

BB

~e.

AFER

42

\\\\\\

\
N

|

0 150

300m

1/12,500

®

RIKUEIESICERESINDKE
B - 3.0m e (P
~1.0m~3.0m %
«+0.5m~1.0m %
«0.3m~0.5m %
+0.2m~0.3m %

- TR EERK (SUEH)
- THREERRE (g X 1)

- THRERERRE (X6
- TR EERXE (TR

[T
[
L) - TS Rlemx (S1E)
[
[

/’/ S N ) \x\\\ \\ \‘
el (R semmsrr M pewsmr BY —meon O s [Biemes o)l (@Eamssmn

74 :

,,,,,,

—maan (3@ (L kxumam @ e

BAFT © +0 SNBSS S\LE 75 —/12 T et

RAUIR—b

43



